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m CANDIDATE RESPONSE SHEET

Exam Name : | Junior Secretariat Assistant (G/F&A/S&P) v
Test Date : 18 May 2025
Test Time : 2:30 PM to 5:00 PM

NOIO1 (NTA EXAM CENTRE NOIDA)
Center (NTA EXAM CENTRE A-31, SECTOR 64, (OPP VISHAL MEGA MART, MAMURA, NEAREST METRO STATION
SECTOR 59 & 62). GAUTAM BUDDHA NAGAR, UTTAR PRADESH)

Correct Option selected Wrong Option selected Correct Option Open Question Not Answered

Q.No: 1 In the evening, Amrutha started walking 1 km in the South direction. Then, Qi A
she turned left and walked 2 km, followed by a right turn and walking 3 km. e, v o SﬁTHTs‘:I

Finally, she turned right again and walked 1 km. In which direction is Amrutha %o
facing now? Sy o fore fomm o Hg v W 82
kS

A East

B West ufEm

C South gféror

D North IR

Q.No: 2 Today is Friday. After 73 days, it will be: 3T YhaR 71 73 &7 o1e @ g
A Monday IR

B Tuesday AR

C Wednesday qUarR

D Sunday IR

Q.No: 3 Four unbiased coins are tossed. What is the probability of getting at least 3 IR Broger Riad IR ¥ PH A PE 3 S A A TR

heads?
A 5/16 5/16
B 7/16 7/16
C 1/2 1/2
D 1/16 1/16
Q.No: 4 Simplify: WA B
11 18 17 11 18 17
T+?_T+(10+20): T+7_T+(10+20):
A 75/3 75/3
B 75/7 75/7
C 75/6 75/6
D 75/2 75/2

Q.No: 5 Kiran buys an item for Rs. 7,004, which was initially priced at Rs.9,000. What f&=01 Us a%g &1 7,004 300 & WiedT 8, Tore! goairdt simd 9,000 303 4t 59

is the discount percentage he received? ot ufo=md ge firef?
A 22.17% 22.17%
B 23.33% 23.33%
C 25.81% 25.81%
D 11.92% 11.92%
Q.No: 6 Complete the given Analogy. < TS IreRTd B - B
41 :246 :: 35:7? 41 :246 :: 35:7?
A 210 210
B 230 230
C 290 290
D 220 220
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Q.No: 15

In a mixture of milk and water, the ratio of milk to water is 5 : 2. If there are
42 liters of mixture in total and 12 liters of water, how much milk is there?

34 liters
30 liters
20 liters
25 liters

Introducing a woman, a man said, "She is the mother of only son of my
father". How is that woman related to the man?

Daughter
Mother-in-law
Mother

Sister

Find the compound interest when the principal amount is Rs. 3,000, the rate
of interest is 5% per annum and the time period is 1 year.

Rs. 172
Rs. 112
Rs. 150

Rs. 165

If the nt term of the AP is 5n + 1, then the 20t term will be
79

97

101

78

Which number should come next in the following series?
1, 30,5, 26,9, 22,13, 18, ?

17
26
23
7

In a class of 111 students, Poornima ranked 12t from the top. Then what is
her rank from bottom?

100
99
110
98

The arithmetic mean of the following data is
43,17, 30, 29, 51

31
29
34
33

What is the relationship between sec x and tan x?
Sec2x + tan2x =0

Sec2x + tan?x =1

Sec2x - tan2x =0

Sec2x - tan?x =1

Identify the correct option regarding the statements & assumptions given
below:

Statement:

The school has decided to cancel the summer camp this year.

Assumption I:

No entries have been received by the Institution of the students for the
summer camp.

Assumption II:

It is being cancelled because the students are interested in summer camp.

Neither Assumption I nor II is Implicit

Only Assumption I is Implicit
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CELREIEACEL
12 @R UM R,

34 dex
30 fiex
20 dteR
25 dex

B, g BT U § [UTd 5: 2 ¥ Al T e 42 whex frgor
Y B 7 e 82

T AT BT UR=T &I §U TS et 3 g, “ag R a1 & sHeid 9 @1 Af 871 39
Tfgar &1 39 e I o WEy 82

T YIS ST 1 P e T IR 3,000 T9 B, T & 5% Uil I8 7 3R T0
3ty 1 99 B

Rs. 172
Rs. 112
Rs. 150
Rs. 165

gfe AP &1 nth Ug 5n + 1 §, Y 20th UG B
79
97
101
78

Frofifea gaar # srTch Tem BiF W o TiiRe?
1, 30, 5, 26, 9, 22, 13, 18, ?

17
26
23
7

111 el &t v Fen & gffor SR T 128 =F | §1 @ R 3 39H wH 71 82

100
99
110
98

fufafea sifest @1 st A |
43,17, 30, 29, 51

31

29

34

33

sec x 3R tan x & o9 &1 ey B2
Sec2x + tan2x =0
Sec2x + tan?x =1
Sec2x - tan2x =0

Sec2x - tan?x =1

1 fou TU By SR Tl & Wey B wel ey Bt ugdE a:
HY:

@A A 39 99 TR $Y BT I B BT Aol oy 1

AT 1

TR $U ¥ g sE &) F1 ufaly G o ura T8 g8 21

AT 11
39 T fobar o <@ § if BE IR $u # of @ B

Tt | 1 3R 7 & 11 erafifea @
Fad Ul I iR §
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Only Assumption II is Implicit

Both Assumption I and II is Implicit

If the cost price of an article is Rs.50 and the selling price is Rs.25, what is
the loss percentage?

50%
40%
45%
55%

Count the number of triangles in the given figure.

12
14
10

Find the LCM of 82, 83 and 8*
3,008
4,096
3,442
4,220

Which number should come next in the following series?
45, 40, 35, 30, 25, ___

22
30
20
25

Ifp@q=p+q+ 98, whatis the value of 112 @ 8007?
1615
1830
2730
1010

A train 150 meters long passes a pole in 30 seconds. What is the speed of the
train in km/h?

38 km/h
30 km/h
36 km/h
18 km/h

Ranjitha invests Rs.7000 at 8% interest per annum for 3 years. What is the
Simple interest earned?

Rs. 1550
Rs. 1680
Rs. 1380
Rs. 1440

Choose the pair of words in the answer choices that best expresses a
relationship SIMILAR to that expressed in the original pair.
UVW:XYZ

HIJ:KLM
SAP:DFR
ABD:STU
KMO:NQP
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Fad U=l 11 sied &
ST wr=gaT 1 3R 11 Sraf-ifea &

H%%ﬁnﬁsiﬁwaﬁamaﬁﬂa 50 30T & R ) geu 25 3D B, o i vl
e

50%
40%
45%
55%

@ TS srpfa # Pyt @t e f|

12
14
10

82, 83 3R 84 &1 LCM T
3,008
4,096
3,442
4,220

Fofifed saar & srTet T SiF 9 o arfee?
45, 40, 35, 30, 25, __

22
30
20
25

g p@q=p+q+ 98, d 112 @ 800 HT A T 82
1615
1830
2730
1010

w%-—rTﬁ\—rﬁ 150 iex et B, T N & UG F, 30 Jebs & ToRA 81 & B A km/h F
a1 B

38 km/h
30 km/h
36 km/h
18 km/h

ﬁ, 7000 ITY BT 8% dIfeh S W, 3 TUf P forg AW FlT | IR STl
?

Rs. 1550
Rs. 1680
Rs. 1380
Rs. 1440

feu e fawed & A sl Bt 98 SIS YA Sl G SISt A e {by T Wefy b A ey
%! araH U § oad T 8l
UVW:XYZ

HIJ:KLM
SAP:DFR
ABD:STU
KMO:NQP
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Q.No: 24 Find the average of the cubes of the first eight natural numbers.

A 162
B 140
C 150
D 135

Q.No: 25 Find the missing figure in the given figure which replace a question mark:

Og?

@'@

5

OEO

?

.No: 26 What are the roots of the quadratic equation 6x2 - x - 2 = 0?

° /i
Q

A 1/6 and 4/7

B 2/3and-1/2

C 1 and 8/5

D 6 and 3/2

Q.No: 27 Which of the following relation suits the most for the given Venn Diagram?

A Eraser, Food, Coffee

B Chair, Ball, Mango

C Computer, Door, Bulb

D Input device, Keyboard, Mouse
Q

represents 'x', 'x

.No: 28 Simplify the following expressions using the given code language, where '+'
represents '+', and '+' represents '+'.

represents '-', '-

19x14+6+65-13="7?

o 0O w >
w
»H

gl 3o T Gensit & ° T 3Nd T1d i

162
140
150
135

2 S ompfa | vy fog & WM W gW Spia I1d Fifore:

Og?

@'@

PN\
D\ VA4

o -

OEO

"~

2\
NV

V oN
4

2\
VA

N\
N4

fama AR 6x2 - x - 2 = 0 & HA T &2

1/6 3R 4/7
2/3 38R -1/2
1 3R 8/5
6 3R 3/2

Fraffed 3 & BH @ dy fiT 70 37 e & e 99 Suge o?

TR, HISH, BIwt
e, g, am
DR, AT, Tod

e f¥argw, F9E, A

T TS DI U BT IUANT TR U oTeh] Bl TR BIfTY,
, X' ' Bl SR, - '+ B SR ], SR = '+ B el §

19x14+=6+65-13="7

41
43
34
35
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Q.No: 29 The base of a parallelogram is 10 cm and its height is 5 cm. What is the area Teb GHIGR TS BT YR 10 I B 3R 5T FHarg 5 Jh 81 THIR Iy &1

of the parallelogram? REraic I

A 5 cm? 5 cm?

B 2 cm? 2 cm?

C 15 cm? 15 cm?

D 50 cm? 50 cm?

Q.No: 30 Complete the Alphabetical series. EUTW Preril Eal T Eaxdl
FG, GI, HK, IM, JO, _ FG, GI, HK, IM, JO, _

A TR TR

B RT RT

C KQ KQ

D PO PO

Q.No: 31 A motorbike travels at a speed of 40m/s. How long will it take for the TH HIexa8E 40 Hiex uld I &I 1id ¥ gad g1 Hieasd & 1000 Hiex &1 gl 7
motorbike to travel a distance of 1000 meters? FA § e g0g e

A 25 seconds 25 AFs

B 15 seconds 15 A5

C 10 seconds 10 A5

D 20 seconds 20 ¥FS

QMo: 32 Choose the correct mirror image from the given options for the following, if glm BT XY R v S < Fafeed & g fag e fasedt # Qo o 5 wffss

the mirror is kept at XY.

p 4 b4
BR4AQI1GHI E > BR4AQI1GHI E 9
v v

» THOIQAME THOIQAMSIE
s THOIQAMSA THO IQALSA
¢ THAIQAME THOIQARSIE
o TH6IQAME TH6IQAMSIA

Q.No: 33 Identify the correct option regarding the statements & conclusions given H R U B 3R et & ey § TE Rvey 3 ugar aX:

below:
DY
Statements: "
1. All carrots are potatoes. ; o mlgl
2. Some potatoes are onions. ﬁ. Wf_ 1
Conclusions: . 3
1.Some potatoes are carrots. 1. S I MR &l
2. All potatoes are onions 2.l 3 QWTG%
A Only Conclusion 2 follows Faa e 2 wdt ¥
B Only Conclusion 1 follows haa freed 1 TE ?
C Both Conclusion 1 and 2 follows e 1 3R 2 S F
D Neither Conclusion 1 nor 2 follows Tafred 1 dRaf 2T e

Q.No: 34 Naveen walks 1 km East, then turns left and walks 2 km, then turns left T 1 et o fom 7 wrerell ©, AR U el & SR 2 el =rcren €, v ¢ el &
again and walks 1 km and then turns right and walks another 2 km. How far 3R 1 f&5Ht <ear § 3iR fhR 210 ggar § $ 2 frdt 3R =erar 31 ST gt § g b

is he with respect to his starting point? o7 987 § a8 foa xK %?
A 4 km 4 foit
B 2 km 2 foit
C 3 km 3 forlt
D 1 km 1 it
Q.No: 35 Find the HCF of 13, 39, 273. 13, 39, 273 &I HCF &S|
A 13 13
B 273 273
C 39 39
D 3 3
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Q.No: 36 Sumanth walks 1.3 km towards the West, then turns 45 degrees clockwise.

O 0O W »

Q.No: 37

o 0O w »

Q.No: 38

O 0O w

Q

O 0O w

Q

o o0 w > O O 0 @ »

O 0 w >

o

o 0w >

.No: 39

.No: 40

.No: 41

.No: 42

.No: 43

.No: 44

Which direction is she facing now?
North-West
North-East
South-East

East

A cake is cut into 18 equal pieces. If 8 pieces are eaten, what fraction of the
cake was eaten?

4/9
5/9
9/4
9/5

Evaluate (900 + 600 + 1253) - (1000 - 226)
2143
1657
1834
1979

If A =6 and B = 12, then find the ratio of 2A : 3B
3:10

1:7

1:3

5:6

Complete the given Analogy.
INK : 91411 :: RUN : ?

182114
176961
182411
184211

Simplify:
(12x12)+123-30+(144+2)=

230
250
359
309

Three unbiased coins are tossed. What is the probability of getting at least
two heads?

2/5
4/5
1/2
2/3

Find the HCF of 11, 110 and 132.
13

11

2

110

In a row of 60 people, A is 47 from the left end in a row. Then what is
position of A from the right end in a row?

9

14
13
12
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A Uy @Y 3R 1.3 et et §, f5R 45 Rl <fromad gedht 31 o/ I frw R &
18 S TSI &2

FAR-uidw
IW-gd
Sferor-gd
w

TP P Pl 18 TSR THe| § HIeT oidl 31 TG 8 THS WY O §, Al B BT fbaT
YR G T

4/9
5/9
9/4
9/5

i BY (900 + 600 + 1253) - (1000 - 226)
2143
1657
1834
1979

IEA=63RB=127, @24
3:10

: 3B FT U I Do |

1:7
1:3
5:6

& TS TreRdT B IR R
INK : 91411 :: RUN : ?

182114
176961
182411
184211

WA
(12x12)+123-30+(144+2)=

230
250
359
309

o e Righ IBT0 oA €1 FH J BH <1 88 &I BT UG 1 8?2

2/5
4/5
1/2
2/3

11, 110 3R 132 &I HCF TS|
13

11

2

110

soagﬁu‘fa:"rwﬁ%ﬁ,/xm@ﬁ%wéwm%aﬁﬁ%ﬁa‘q@?ﬁAww
T R?

9

14
13
12
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Q.No: 45
A

B
C
D

Q.No: 46

o 0 w >

Q.No: 47

o 0 w >

.No: 48

Q.No: 49

o0 W >

.No: 50

O 0O w > O

.No: 51

Q.No: 52

O 0 @ »

Q.No: 53

O 0O w >

If the clock shows 12:00, what will be the mirror image time?
12:30

12:00

6:00

6:30

Three types of rice are mixed: Basamati (40%), Sona (30%), and Durga
(30%). The average price per kg of Basmati is Rs.120, Sona is Rs.65 and
Durga is Rs.70. What is the average price per kg in the mix?

Rs. 86.5
Rs. 90
Rs. 88.5
Rs. 85

In a certain language 'TIGER' is coded as '@2345', 'BEAR' is coded as '#4$5'
and 'WOLF' is coded as '678&'. How is 'GIRAFFE' coded in that language?

345$&&3
325$&&4
324$&&4
354$&&3

What are the roots of the quadratic equation 2x2 - 5x + 3 = 0?
1and3/5
7 and 3/2
1and 4/7
1and 3/2

In a certain code language, the word "GALAXY" is encrypted as "HBMBYZ".
Using the same encryption pattern, what will be the encrypted form of the
word "PUZZLE"?

QVAFAM
QVAAFM
QVAMAF
QVAAMF

Which of the following is the example of composite number?
2

26

23

19

Evaluate (120 x 120 ) + (100 = 20)
13500
11295
14405
15655

A car travels a distance of 180 kilometers in 3 hours. What is the speed of the
car?

60 km/h
30 km/h
50 km/h
40 km/h

If the 7t term of an AP is 20 and its 11" term is 40 then, what will be the
common difference?

6

5
7
3
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e wt 12:00 S 3@ W€ €, 9 gdu & ufafse & @ g gem?
12:30

12:00

6:00

6:30

I UPR & T A T §: SEd (40%), THT (30%), 3T g (30%) | ST
Eﬂ&hﬂa%mﬁmﬁmuom,msswﬁsﬁ?g’ﬁm 71 forsyor & ufy
fpam T 1 GAI?

Rs. 86.5

Rs. 90

Rs. 88.5

Rs. 85

ol fAfda W & 'TIGER' &) '@2345', 'BEAR' &) '#4$5' 94T 'WOLF' &I '6788' &
T T HIS a1 ST 81 3T U H 'GIRAFFE' &1 fhd TR Bis fbar smam?

345$&&3
325$&&4
324$&&4
354$&&3

feard TefieRur 2x2 - 5x + 3 = 0 & A T &?
13R3/5
7 3R 3/2
1 3R 4/7
13k 3/2

it fAf3a s Jae H, "GALAXY" Wsg &1 "HBMBYZ" & &0 & Tfpy famam mam 81
I TP Yo BT IUGRT R U, "PUZZLE" X5 T U<hPS T T g2
QVAFAM

QVAAFM

QVAMAF

QVAAMF

frafifed & I B 1 UIST VBT BT ISR 82
2
26
23
19

e B (120 x 120) + (100 + 20)
13500
11295
14405
15655

TF FR 3 9 180 framdicR ot g8 7 Fxlt 31 SR &I 7 FT 8?2
60 &t/ ger
30 &t/ ger
50 f&t/ger
40 et/ ger

gfe; et AP &1 7th U 20 R 3R SUHT 11th U 40 €, O AT 3faR &1 EIT?

W N u o
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.No: 59

O
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o
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Q.No: 61

o0 w >

Q.No: 62

If day before yesterday was Monday, what will be the second day after the
day-after-tomorrow?

Saturday
Tuesday
Thursday
Sunday

Identify the word that cannot be formed using the letters from the word
'IMPRESSION'.

PERSON
STRESS
MISSION
IMPRESS

cos X =7?

sin (90°-x)
tan (90°-x)
cos (90°-x)

cot (90°-x)

What percent of 5 kilograms is 750 grams?
25%
15%
20%

17%

Six friends M, N, O, P, Q and S are sitting in the first row of a stadium
watching a cricket match.

i. M and S are sitting at the extreme ends.

ii. O is sitting to the immediate left of N and to the immediate right of Q

iii. P is sitting fourth to the right of M and to the immediate left of S and O is
sitting second to the right of M.

Then who is sitting at the fifth place from the right end?

o

Q
S
M

The average of ten numbers is 48. If two numbers are included, the average
becomes 49. What is the sum of the included numbers?

96
10
100
108

The Least Common Multiple (LCM) of two numbers is 220 and their ratio is
1:11. If one of the numbers is 20, what is the other number?

190
220
200
180

If the following substitutions are made:

'Parrot’ is called 'Owl'

'Owl' is called 'Peacock’

'Peacock’ is called 'Penguin’

'Penguin’ is called 'Pigeon’

Which bird will be referred to as the National bird of India?

Peacock
Parrot
Pigeon

Penguin

A cylinder has a radius of 5 cm and a height of 20 cm. What is its volume?
(Use ™ = 3.14)
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e TRET THAR T, TR & a1 oI 3 I a1 gre
AR
HITTaR
TPAR
AR

'IMPRESSION' RTeg & 3{&RI &1 SUANT FReh 7 §- a1l Vg $I Ugd He |
PERSON

STRESS

MISSION

IMPRESS

cos X =?

sin (90°-x)
tan (90°-x)
cos (90°-x)

cot (90°-x)

5 fbeiim &1 fabeT ufdwrd, 750 919 872

25%

15%

20%

17%

BEIAWM, N, O, P, Q 3R S Us Rfsgn & Ugdl Ufdq # Jox e 79 3 38 &

i.MIRSHHBRWES T

ii.0,NF P MR QF B AL IoTE _

%%TP%M FIWY NI RA W MRS F 3o a1 TT3 T 0, M F A F g /M |
[

T TS BT 3T 48 B SR & T=ATd SISt St €, df 3hd 49 B e 81 2fdrer
&) TS Gmeit o1 GnT T 82

96
10
100
108

3l T3t T AR BIAT Al (LCM) 220 § 3R ST 3ud 1:11 81 afe Te wam
20 B, a gu TRem @ gl

190
220
200
180

gfe Fafafea ufowme fee S:

"Parrot' &) 'Owl' HEl Il &

'Owl' 1 'Peacock’ g Il §

'Peacock’ &I 'Penguin’ &gl SITdl %
'Penguin' &I 'Pigeon’ HeT Sl &

154 el B HRA 1 YK U&T BT SIYT?

Peacock
Parrot
Pigeon

Penguin

T iR 3 o1 5 I 3R HAE 20 I F1 SHBT MG FTR? (T = 3.14 BT
JTNT &)
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A 1562 cm? 1562 cm3
B 1584 cm? 1584 cm3
C 1548 cm? 1548 cm?
D 1570 cm? 1570 cm3
Q.No: 63 Complete the series. 4Gl BT G HY
HO_S_H_USE_OUS_ HO_S_H_USE_OUS_
A UEOHE UEOHE
B UOEHE UOEHE
C UEOEH UEOEH
D UEHOE UEHOE
Q.No: 64 If a car travels for 5 hours at the speed of 15 km per hour, how many 3R TP R 5 4 a% 15 fhamiex ufd 92 @1 71 I gadh §, df a8 o feadier
kilometres will it travel? I Hf?
A 75 km 75 km
B 45 km 45 km
C 13 km 13 km
D 60 km 60 km

Q.No: 65 F|_nd the number that will replace the question mark, which will complete the 7y 8 F RIF T 7T a ﬁﬂaﬁguﬂ 3 Tt T I >
given equation correctly? 020 - 896 = 7 x 4 ae o

920-896 =?x4
3

o 0O w r
o & 0

Q.No: 66 What is the correct water image for the following?

FT 7T TrIT7rTr77777

?

DAPO
2000, 1¢|
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Q.No: 67

o0 w >

Q.No: 68

o0 W >

Q.No: 69

g 0 w p

Q.No: 70

o 0 w p

Q.No: 71

Refer to the figure given to answer the question

Table depicts the Sale of Pain killers in PNKV Hospital, Chennai

Sale in thousand strips (of ten tablet each)

"’L,‘:mp"i‘ 2010 2011 2012 2013 2014
m 670 720 810 850 590
850 910 850 530 570
640 730 750 810 750
m 1010 1120 1400 1360 1410
1340 1370 1380 1390 1410
4510 4850 5270 5380 5530

What is the ratio of sale of Calpol to the total sale of pain killers during the
year 20127

0:528
0:527
5:528
5:527

W W N N

Study the following arrangement and answer the question:
1R67$Q@V89Y%@ZCW4

Which of the following letter is immediately preceded and immediately
followed by a symbol?

<

O N <

Five years ago, the ratio of the ages of Duke and his mother was 2 : 5
respectively. If the present age of Duke's mother is 50 years, what is the
present age of Duke?

23 years
40 years

Five girls Seema, Rani, Bindu, Mary and Reeta are sitting on a bench and
facing North, Seema is to the immediate left of Rani and to the immediate
right of Bindu. Mary is sitting at the right end. Reeta is sitting to the
immediate right of Rani. Then who is sitting fourth from the right end?

Seema
Mary
Bindu

Reeta

Select a suitable figure from the given options that would replace the
question mark (?)

GET IT ON
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Y FT IW o F o feu 71U siiws o1 3
Table depicts the Sale of Pain killers in PNKV Hospital, Chennai

Sale in thousand strips (of ten tablet each)

List of Pain ;
2010 2011 2012 2013 2014
killers E :
m 670 720 810 890 590
850 910 830 530 570
640 730 730 810 750
m 1010 1120 1400 1360 1410
1340 1370 1380 1390 1410
4510 4850 5270 5380 5530
99 2012 ¥ RM &< MaR® garelt 3t $d At § Saud o1 ! &7 ergurd =1 82
70:528
70: 527
35:528
35:527

Frofifed TR BT e HY 3R Ty BT I <
1R67$4Q@V89Y%@ZCW4
Frofafed & ¥ $F 9 316k & gid U8d 3R ged 918 U i 872

©O N < <

Uig ¥ Ugd, S 3R SUS! 7l P MY BT UK HE: 2: 5 oI AR SIS B}/ B
TIAM 31 50 Y B, O Sy F adwE 31g = 82

23 af

40 a¥

17 af

35 af
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Q.No: 72

O 0 m >

Q.No: 73

O 0 m >

Q.No: 74

o 0O w »

Q.No: 75

O 0 w >

Q.No: 76

o 0O w >

Q.No: 77

O 0O W

Q.No: 78

o0 w >

Q.No: 79

o 0 W >

Manoj rides his bicycle 4 km North. Then, he turns right and rides 6.5 km.
After that, he turns right again and rides 8 km. Next, he turns left and rides 4
km. He then turns left once more and rides 4 km. Finally, he turns left again
and rides 4 km. How far is Manoj from his starting point?

4.5 km

4 km

6.5 km

8 km

Find the missing number in the following series.
2,5,11, , 47,95

21
19
23
10

A vendor buys 30 plates and 30 spoons from the market, each at Rs.30. Then
sells plates at Rs.50 per plate and spoons at Rs.25 per spoon. What is the
loss or gain percent?

25% Profit
20% Loss
25% Loss
20% Profit

Identify the word that can be formed from the letters of 'OBSERVATION'
without repetition.

SERVICE
OBSERVE
VIBRATE
REVERSE

A can complete a job in 18 days, while B can complete the same job in 9
days. How long will they take together to finish it?

18 days
6 days
3 days
9 days

A cuboid has dimensions 7.2 cm, 9 cm, and 11 cm. What is its surface area?
486 cm?
448 cm?
462 cm?

458 cm?

Arrange the following words as per their order in an English dictionary and
choose the one word that comes second:
Desire, Drink, Derive, Decent

Drink
Decent
Desire

Derive

Which of the following words has its letters in an English alphabetical order?
Begin, Before, Beside, Behalf

Before
Behalf
Begin

Beside
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mm4ww%mﬁmélﬁﬂ 9% aT¢ §SdT § R 6.5 faedt
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4 Tl Wfhel T 1 9 9% R § 917 g1 § 3R 4 it wsfora gemar 81
ﬁa%m%wﬁo—mmaﬁﬁaﬁ

4.5 feti
4 f&i
6.5 forit
8 fait

Frofifea saar & qu Semn 319 sl
2,511, ___,47,95

21

19

23

10

& fasha a6IR A, 30 We 3R 30 THE, TAS 30 I F Tliedr &1 5 a8 we &
50 3T Ul We 3R v Bl 25 U Ul TR, Sl §1 B 1 oy ufad o 82

25% @Y
20% I
25% g1

20% °TH

'OBSERVATION' X% & 3R} ¥ a1 Slgva & &7 a1dl Wsg &1 Uga B

SERVICE
OBSERVE
VIBRATE
REVERSE

A TE $TH &I 18 T H 1 X Yol 8, Tafs B I B9 B 9 T H T IR bl B
9 R 39 &M & U B B fbaan 95 di?

18 f
6T
3fem
9 f&a

TH T BT A 7.2 9, 9 I &R 11 I 313U gEl A @ 82
486 cm?
448 cm?
462 cm?

458 cm?

froffad Teal $1 SHioh eadIx & 7 HH & SFIHR GRUT HY 3R GO ”IF |
3T 9T Weq g

Desire, Drink, Derive, Decent
Drink
Decent
Desire

Derive

Fofifed ¥ 3 5w wee & ogR sl qufrer & wu & 82
Begin, Before, Beside, Behalf

Before
Behalf
Begin

Beside
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Q.No: 80 Study the following arrangement and answer the question:
BD%9&6H4#GIJ23@QA
Which of the following number is immediately preceded and immediately
followed by a symbol?

o 0 w >
» o ©

Q.No: 81 How many factors of 180 are perfect squares?
A 2

O 0w

3
5
a4

Q.No: 82 The HCF of 50 and 65 is

A 5
B 10
C
D

Q.No: 83 If Rs. 15,000 is invested at an annual compound interest rate of 12%, then
how many years will it take to earn Rs. 3,816 as interest?

A 8 years
B 4 years
(o} 2 years
D 6 years

Q.No: 84 What is the square root of 1681?

A 21
B 31
C 51
D 41

Q.No: 85 In the given Venn diagram, the Triangle represents people who like Chips, the

Circle represents people who like Samosa and the Rectangle represents
people who like Popcorn.

Find the number of people who like only Samosa.
a4

o0 W >

7
6
8
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fofafad o o1 1w Y IR UY P W 3
BD%9&6H4#GII23@QA
frafifed & 3 B & gen & e ugd 3R % 918 F T udls 37

A O O W

180 & fobeH TUI% R T WIR &2
2

3
5
a4

50 3R 65 ®T HCF &
5
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e 12% Bt affe Thafa oW & W 15,000 FUY HT Ao a1 onen &, o s &
0% 3,816 FUT IId B | Rber 7§ T

8y
a4 9f
29
6 af

1681 BT TR I T 87
21
31
51
41
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Q.No: 86 Instruction: Refer to the figure given below for the following

GET IT ON

Google Play

question. Select the most appropriate answer from the choices given, 3132 Trafifad g o forg =i few e ot o1 ) T 7Y e & $UR W faw Y
based on the data provided.

Revenue share of various banks

inCr

9,000

25,000

HEBank A
mBank B
m Bank C
mBank D
mBank E

What is the percentage share of revenue from Bank B with respect to the

fosedt o ¥ Je9 Iugad IR I
Revenue share of various banks
inCr
2000 25,000
’ H Bank A
mBankB
m Bank C
m Bank D
mBankE

T Sl T o & Faiy § S B UT o1 b Ui e e 82

revenue from all banks put together?

A 16.87 % 16.87 %

B 13.04 % 13.04 %

C 14.98 % 14.98 %

D 12.89 % 12.89 %

Q.No: 87 Complete the Analogy. & TS TeRad B IR B
Decrease : Increase :: Dusk : ? 1 | A =

A Careless qTIRdAE

B Dawn HR

C Brighten Bibin

D Shallow Yt

Q.No: 88 How many factors of 500 are perfect squares? 500 & fe Biica RPTE WRR §?

A 3 3

B 4 4

C 5 5

D 2 2

Q.No: 89 What is the compound interest on Rs. 6,000 at an interest rate of 10% per
annum for the period of 2 years? 2 o Y 3afy & R ufd 9 10% P! =W &R W 6,000 T W Thdfe SIS T 82

A Rs. 1,002 Rs. 1,002

B Rs. 1,490 Rs. 1,490

C Rs. 1,000 Rs. 1,000

D Rs. 1,260 Rs. 1,260

Q.No: 90 What is the cube root of 46,6567 46,656 &1 & T T 82

A 26 26

B 46 46

Cc 36 36

D 56 56

Q.No: 91 A man buys a second hand watch for Rs.1200. He spends Rs.150 on its T 3 TP YHs TS TSt 1200 30 H TSl 81 I8 396 IREd W 150 30 T
repair. If he sells the watch for Rs.900, what is the loss percent? Al %I g a8 ’ﬂ?ﬁ 900 ¥9 H S=ar %, aq I RCIE] BIGRGE %?

A 34.22% 34.22%

B 33.33% 33.33%

C 34.55% 34.55%

D 35.66% 35.66%

Q.No: 92 What is 77% of 130? 130 BT 77% F1 8?2

A 100.1 100.1

B 102.3 102.3

C 99.2 99.2

D 104.7 104.7
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Q.No: 93 Based on the following relationships:

o 0w >

Q

o 0O w >

Q

o 0 w r

Q

O 0 m >

o

O O 0o @ >

o 0 w >

o 0O w r

.No: 94

.No: 95

.No: 96

.No: 97

.No: 98

.No: 99

P + Q means P is the daughter of Q.

P x Q means P is the son of Q.

P - Q means P is the wife of Q.

Which of the following expressions implies that B is the wife of D?

AxBxC+D
A+B-DxC
A-BxDxC

AxB-CxD

Pointing to a photograph, Sudha said, "He is the only son of
my father". How is Sudha related to that man?

Sister Cl
Wife LCif
Mother af
Daughter &

Interest at the rate of 3% is charged on an amount for first two years. For
the next three years interest at 4% and after five years interest at 6% are
charged . What will be the simple interest on Rs.2,000 after ten years?

Rs. 580
960

876

Rs.
Rs.

Rs. 480

A and B can do a work in 8 days, B and C can do the same work in 12 days.
A, B and C together can finish it in 6 days. A and C together will do it in:

12 days
32 days
8 days

16 days

Four unbiased coins are tossed. What is the probability of getting exactly four
tails?

1/8
1/12
1/16
3/5

If M stands for '+', N stands for '-', O stands for 'X' and P stands for '='. Then
what will be the value of '144 P12 M8 09 N 6'?

72
78
68
70

Evaluate (300 + 3) + (900 x 9) + (200 - 2)
8621
8398
8567
8453

.No: 100 Identify the correct option regarding the statements & conclusions given

below:

Statements:

1. All girls are writers.

2. Some writers are artists.
Conclusions:

1. All writers are girls.

2. All writers are artists

Only Conclusion 2 follows
Neither Conclusion 1 nor 2 follows
Both Conclusion 1 and 2 follows

Only Conclusion 1 follows
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fFafafed deedt & oMuR |R:

P+QE 3P QP IARI
PxQ® 7P, QH TR

P-Q® 3P, QP U B

Fefafed o § 19 1 i g iaT ¢ % B, D &t Ualt 87

AxBxC+D
A+B-DxC
A-BxDxC

AxB-CxD
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3R U™ I8 & F1G 6% T ST fordT Sl &1 &9 a8f & §18 2,000 T TR IR SIS
1 8hm?
580
960
876

Rs.
Rs.
Rs.

Rs. 480

ASRBUG PHSRAT IR IPA T, B 3R Cadt o 12 RA A R IHad 81 A, B
3R C e g8 6 fall & O IR Hha §1 A SR C e 38 F3:

127
32 fa=
8 fa
16 fa

IR e Ras 310 d §1 31 IR dsd e Bt HTaT 1 82

1/8
1/12
1/16
3/5

e M 3rRf '+ 8, N BT - B, O BT 3 'x' B IR P BT 3 ' BI TN '144 P 12
M 8 0 9 N 6' &I | FT ghm?

72
78
68
70

TeHid B (300 = 3) + (900 x 9) + (200 - 2)
8621
8398
8567
8453
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Q.No: 101 Which command is used to close all the workbooks in Excel?

A Alt+ F4
B Ctrl+ C
C Ctrl+ F5
D Alt+ C

Q.No: 102 Malajkhand, known for one of the largest copper mines in India, is located in

which state?

A Madhya Pradesh
B Jharkhand

C Rajasthan

D Chhattisgarh

Q.No: 103 Which river is also known as the 'Dakshin Ganga'?

A Krishna
B Ganges
C Godavari
D Narmada

Q.No: 104 What is the SI unit of pressure?

A Pascal

B Coulomb
C Ampere
D Newton

Q.No: 105 By what alternate name is Howrah Bridge officially known?

A Vivekananda Setu
B Rabindra Setu

C Vidyasagar Setu
D Netaji Setu

Not Answered

Q.No: 106 Which of the following protocols is commonly used to send and receive
emails over the internet?

A HTTPS
B SMTP
C DTP

D DNS

Q.No: 107 Which Indian legislation was enacted in 2005 to protect women from
domestic violence and provide for civil remedies?

A Protection of Women from Domestic Violence Act

B Hindu Succession Act

c Redressal) Act

D Women Domestic Prohibition Act

Q.No: 108 Which of the following is the binary representation of the decimal humber

129?
A 10100001
B 10001001
C 10010001
D 10000001

Not Answered

Q.No: 109 The Second Anglo-Mysore War ended with the Treaty of

A Srirangapatna
B Mangalore

C Paris

D Versailles

Sexual Harassment of Women at Workplace (Prevention, Prohibition and

GET IT ON
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Q.No: 110
A

B
C
D

Q.No: 111

o 0O wm >

Q.No: 112

O 0 m >

Q.No: 113

o 0O w r

Q.No: 114

o 0O wm >

Q.No: 115

o 0 W >

Q.No: 116

o 0O w >

Q.No: 117

O 0O W

Q.No: 118

O 0O W

Odisha is the leading producer of which mineral in India?
Lime stone

Diamonds

Manganese

Gold

The book 'A Forgotten Empire,' written by historian Sewell, refers to which
empire?

Mughals
Chola Empire
Maratha Empire

Vijayanagara Empire

At the 2025 BRS Conventions in Geneva, which country's position reflects a
push for agricultural productivity despite health and environmental risks of
certain insecticides?

Russia
Canada
India

Australia

Which force recently scaled Mt. Makalu, the fifth highest mountain in the
world?

Indian Army
Indo-Tibetan Border Police (ITBP)
Border Security Force (BSF)

Central Reserve Police Force (CRPF)

Which feature helps you to insert the contents of the Clipboard as text
without any formatting?

Page Setup
Format Painter
Styles

Paste Special

Who has the power to increase or decrease the number of judges in the
Supreme Court?

The President
The Chief Justice of India
The Parliament

The Prime Minister

Which imaginary line separates the Earth into the Northern and Southern
Hemispheres?

Prime Meridian
Equator
Tropic of Capricorn

Tropic of Cancer

Which river is known as the 'lifeline of Chhattisgarh'?
Mahanadi
Godavari
Narmada

Tapti

How many wheels does the chariot-shaped Konark Sun Temple have?
28
18
26
24
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Q.No: 119 Which freedom fighters are popularly known as 'Lal-Bal-Pal'? 31 Tadzra YT &Y AA-S19-UTe & AT Y ST S 82
A Lala Lajpat Rai, Bal Gangadhar Tilak, Bipin Chandra Pal ATl ATTId I, 9T TR faas, @A 9 o
B Lal Bahadur Shastri, Bal Gangadhar Tilak, Bipin Chandra Pal GIGECH m, T TR m, faft= =iz ot
C Lala Amarnath, Bal Thackeray, Palwankar Baloo AT 3THRATY, 9T Bﬁﬁ', qaadI CIGY
D Lala Lajpat Rai, Baldev Singh, Gopal Krishna Gokhale ATl Aol I, gaed Rig, MuTd FoT Maat

Q.No: 120 iI:dtir\:ﬁjsgr;Sg;:dci)fn:ge Preamble, which term underscores the importance of ¥ def ﬁ, Fr T T e & Yo %?

A Fraternity farme®t

B Equality TR

C Justice =g

D Liberty AT

Q.No: 121 Which of the following is the largest layer of the Earth? frofefed § F #H & gt Bt Jod 7€ W 22
A Mantle STaR0T

B Outer core 3R BR

C Crust £

D Inner core TR BR

Q.No: 122 The Almatti Dam is built on which river? Sargt §iY g A W s T 82
A Cauvery el

B Narmada afer

C Krishna )l

D Godavari Meras

Q.No: 123 Which constitutional body in India plays a crucial role in maintaining fiscal URA T B T AR Be T R IS0t B 99 B J9 F 1w a5 R

federalism by recommending the distribution of tax revenues between the 3 S 39 i fi
Union and the states? : X ! | v %?

A Finance Commission o=t amakT

B Planning Commission YT ST

C Election Commission ferafes smavr

D NITI Aayog NITI 3RT

Q.No: 124 "The Palnadu Rebellion" was led by which Indian freedom fighter? "I fARIE" BT g fhd YR qd=dr I A fosar A
A Uyyalawada Narasimha Reddy mm@

B Alluri Sitarama Raju St AR I,

C Bagha Jatin a1 sfed

D Kanneganti Hanumanthu HAT Y

Not Answered

Q.No: 125 Tarapur Atomic Power Station, the oldest nuclear power station in India, is f : T TR i . oy ey i} @ %?

located in which state?

A Gujarat ToRT

B Tamil Nadu afreTg

C Karnataka Eircd

D Maharashtra HERTY

Q.No: 126 Which are the two types of Earth's crust? 7t 3 FE F & UBR BH I §2

A Upper crust and Lower crust JTIR HE AR AR HE

B Oceanic crust and Continental crust TENNRIG e 3R TeTeidi swee

C Lithospheric crust and Asthenospheric crust PR B 3R Q@*ﬁﬁﬁ? e
D Inner crust and Outer crust TR $ 3 3IMIeR e

Q.No: 127 Lr;tzv?ezesr; \Izilif;ttwovgir:?ﬁels?rgest bilateral military exercise conducted 2025 &, SRET 5 2 32 & €9 o Te geT ety 7 e e
A Philippines and China fpefidte ik =

B Philippines and United States of America fireitdia ok m I AR

C Philippines and South Korea frefidia iR gfaror Hifvar

D Philippines and Japan fireltdi 3R SITur=

Not Answered
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forme, g™ ok RiTge faftd UeR & 84 §:

Q.No: 128 Lignite, Bituminous, and Anthracite are different kinds of:

A Biogas Eiuinr:

B Iron et

C Coal Frgar

D Natural Gas wrpfaw |

Q.No: 129 The famous "Diamond Triangle" consists of which three ancient Buddhist

sites?
Konark, Lalitgiri and Bhubaneswar
Udayagiri, Ratnagiri and Lalitgiri

Udayagiri, Ratnagiri and Bhubaneswar

o 0O w r

Ratnagiri, Puri and Lalitgiri

Q.No: 130 Examples of the phylum Ctenophora are

A Sea anemone
B Sea Walnut
C Sponges

D Mosses

Q.No: 131 What was the slogan of the "Chipko Movement"?

A "Save Trees, Save Earth"

B "Go Green for a Better Tomorrow"
(o} "Save Forests, Save Life"

D "Ecology is Permanent Economy"

Q.No: 132 What is the full form of DVR in CCTV systems?

A Direct Visual Relay

B Digital Voice Recorder

C Digital Video Recorder

D Digital Versatile Recorder

Q.No: 133 Hawa Mahal was built in which year?

A 1766
B 1799
C 1777
D 1788

Not Answered

Q.No: 134 In an operating system, which part is in charge of controlling hardware-

software communication?

A Bootloader

B Device Driver
Cc Kernel

D Shell

Q.No: 135 Who is popularly known as the "Unifier of India"?

A Mahatma Gandhi

B Jawaharlal Nehru

C Subhas Chandra Bose

D Sardar Vallabhbhai Patel

Q.No: 136 Who was the first Indian woman to be elected President of the Indian

National Congress in 1925?
A Sarojini Naidu
B Indira Gandhi
C Annie Besant
D

Vijaya Lakshmi Pandit

Q.No: 137 Which of the following components in an electrical circuit restricts the flow of

current?

A Inductor

RN ST e § B @ & Ui dig e i 82
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Capacitor
Resistor

Conductor

Q.No: 138 Anther is a part of:

A Stamen
B Root

C Stigma
D Sepal

Q.No: 139 Animals that live on the sea floor are called

A Nekton

B Neuston

Cc Benthos

D Plankton

Q:No: 140 is a type of copper cable widely used for networking purposes.
A Unshielded Twisted Pair Cable

B HDMI Cable

C Fibre Optic Cable

D Transmission Cable

Q.No: 141 Which layer of the Earth is in a liquid state?

A Inner core
B Crust

C Mantle

D Outer core

Q.No: 142 Which Indian state is popularly known as the "Land of Coconut"?

A Kerala

B Karnataka
Cc Tamil Nadu
D Goa

Q.No: 143 What is the S.I unit for Luminous Intensity?

A Candela
B Weber
C Lens

D Ampere

Q.No: 144 Which part of the Indian Constitution deals with the Emergency Provisions?

A Part XVII
B Part XIX
C Part XX

D Part XVIII

Q.No: 145 Microsoft Word is a word processor developed by Microsoft. In MS-Word,

Spelling Check is a feature available in which tab?

A Insert
B File

Cc Review
D Home

Not Answered

Q.No: 146 C.R. Das and
councils.

A Motilal Nehru
Lala Lajpat Rai
C S. Radhakrishnan

formed the Swaraj Party to enter the legislative
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D Bipin Chandra Pal fafte <% wrer

Q.No: 147 Who graced the launch of the Mediation Association of India and addressed ~ HRI HEARIAT Y & YURH Pt [T f5u Tg18 ok T P Heawyan Iwie

the First National Mediation Conference 2025? 2025 B Ffd fpar?
A Nirmala Sitharaman forfar Waraor
B Narendra Modi g
(o} Droupadi Murmu M‘I‘i
D Amit Shah 3ifera wmE
Q.No: 148 What was Tipu Sultan famously known as? <Y Jea™ &1 g 1 § ST S o1?
A Lion of Hyderabad FRTETE BT W
B Elephant of Delhi feweht o1 el
C Hawk of Bengal TS BT a1
D Tiger of Mysore ﬁw%a@n
Q.No: 149 In Computer, the IC chips used are made up of : HoeR H, ugad IC fawy Fafafa @ a9 g &
A Lithium ferfiraw
B Copper BIR
c silicon fafeoreta
D Iron 3MIgA
Q.No: 150 ggz;ﬁ(iggitfz how much of Rajasthan's total area falls under the Thar SR 3 B AT T T b TR YR X & 3 sfera o 27
A 71% 71%
B 61% 61%
C 81% 81%
D 91% 91%

Not Answered

Q.No: 151 Select the option which best expresses the sentence in direct speech.
He said that Raman had arrived on Sunday.

He said, "Raman will arrive on Sunday."
He said, "Raman arrived on Sunday."

He said, "Raman was going to arrive on Sunday."

o 0 w >

He said, "Raman arrives on Sunday."

Q.No: 152 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in
the paragraph:

The Water Cycle

The water cycle, also known as the hydrological cycle, is a continuous process that circulates water on Earth. It involves various stages, including
evaporation, condensation, precipitation, and runoff. The sun's heat causes water from oceans, lakes, and rivers to evaporate and form water vapour. This
vapour then condenses into clouds, and when the clouds become saturated, precipitation occurs in the form of rain, snow, sleet, or hail. The water
eventually returns to oceans and other bodies of water through runoff, completing the cycle.

What is the primary cause of water evaporation in the water cycle?

Wind

Sun's heat

Precipitation

o 0 w >

Earth's rotation

Q.No: 153 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in
the paragraph:

The Water Cycle

The water cycle, also known as the hydrological cycle, is a continuous process that circulates water on Earth. It involves various stages, including
evaporation, condensation, precipitation, and runoff. The sun's heat causes water from oceans, lakes, and rivers to evaporate and form water vapour. This
vapour then condenses into clouds, and when the clouds become saturated, precipitation occurs in the form of rain, snow, sleet, or hail. The water
eventually returns to oceans and other bodies of water through runoff, completing the cycle.

Which stage of the water cycle involves the conversion of water vapour into clouds?

Evaporation

Condensation

Precipitation

o 0 w >

Runoff
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Q.No: 154 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in
the paragraph:

The Water Cycle

The water cycle, also known as the hydrological cycle, is a continuous process that circulates water on Earth. It involves various stages, including
evaporation, condensation, precipitation, and runoff. The sun's heat causes water from oceans, lakes, and rivers to evaporate and form water vapour. This
vapour then condenses into clouds, and when the clouds become saturated, precipitation occurs in the form of rain, snow, sleet, or hail. The water
eventually returns to oceans and other bodies of water through runoff, completing the cycle.

How does water return to oceans in the water cycle?

Evaporation

Condensation

Precipitation

Runoff

o0 w >

Q.No: 155 Choose the correct part of speech for the underlined word in the sentence.
The news reporter reported the breaking news live from the scene.

Adverb
Adjective
Verb

o 0 w >

Noun

Q.No: 156 Which of the following is the correct antonym of the word 'Liberal'?

A Contemporary
B Modern

C Conservative
D Permissive

Q.No: 157 Which of the following is the Antonym of the word "Ancient"?

A Aged

B Dated
C old

D Modern

Q.No: 158 Change the sentence to passive voice:
"The farmer planted sunflowers in his field."

Sunflowers were planted by the farmer in his field.
The field was planted sunflowers by the farmer.

The farmer was planting sunflowers in his field.

O 0 @ »

Sunflowers is planted by the farmer in his field.

Q.No: 159 Select the option which best expresses the sentence in indirect speech.
He said, "I go to school every day."

He said that he went to school.
He said that he went to school every day.

He said that he will go to school every day.

o0 w >

He said that he was going to school every day.

Q.No: 160 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the one which best expresses the same
sentence in Passive voice.

The General presented us a detailed battle plan.

The General presents us a detailed battle plan.

A detailed battle plan was presented to us by the General.

A detailed battle plan will be presented to us by the General.

o0 w >

Presenting of a detailed battle plan was being done by the General to us.

Q.No: 161 What is the single word for "A person who settles in another country"?

A Sculptor

B Mimic

C Polyglot

D Immigrant

Q.No: 162 Which of the following is the Antonym of the word "Lively"?
A Pertly
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Bright
Gayly
D Dead

Q.No: 163 What is the synonym of "Exuberant"?

A Phlegmatic
B Dour

C Joyful

D Surly

Q.No: 164 Fill in the blank with the most appropriate preposition:
I am dreaming becoming a famous cricketer one day.

from
about

to

O 0O w >

for

Q.No: 165 Fill in the blanks with a suitable preposition to complete the sentence.

I knew there was someone hiding ______ the house.
A to
B behind
C into
D of

Q.No: 166 What is the single word for "The act of stealing from the writings of others"?

A Stealing

B Reproducing
C Reframing

D Plagiarism

Q.No: 167 Choose the correct spelling that complete the sentence meaningfully.

Once dry, the paints become in water.
A insoluble
B insolable
C insoleble
D insolubel

Q.No: 168 Choose the correct meaning of the given idiom/phrase from the options.
"Rags to riches"

Very wealthy person
Greet a person with great respect

Becoming very rich whilst starting very poor

O 0 m >

Accept defeat and surrender to the other party

Q.No: 169 Select the option which best expresses the sentence in Indirect speech.
Rita said, "I am very busy now".

Rita said that she was very busy then.
Rita said me she was very busy then.

Rita told she very busy then.

o 0O w >

Rita will be very busy then.

Q.No: 170 What is the single word for "A group of guns or missile launchers operated together at one place"?

A Bale

B Caravan
(o} Battery
D Drove

Q.No: 171 Choose the correct meaning of the given idiom/phrase from the options.
"Tricks of the trade"

A Clever or expert way of doing something.
B A time when someone is enjoying themselves.

C When you can afford to wait before doing or achieving something.
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D When someone does not have enough to do.

Q.No: 172 Fill in the blank with the correctly spelled word:

The athlete's dedication and hard work led to her success in the competition.
A phenomeenal
B phenominall
C phenomenal
D phenominal

Q.No: 173 Choose the synonym for "Feeble":

A Strengthen
B Delicate

C Hard

D Invigorate

Q.No: 174 What is the Synonym for "Gratify"?

A Restrain
B Satisfy
C Curb

D Stifle

Q.No: 175 Which of the following is the correct antonym of the word 'Hostility'?

A Feud

B Animosity

Cc Friendliness
D Enmity

Q.No: 176 Choose the correct part of speech for the underlined word in the sentence.
The actress delivered an emotional monologue in the film.

A Adverb

B Noun

C Adjective
D Verb

Q.No: 177 Choose the correct spelling that complete the sentence meaningfully.

Thunder rumbled and wind let out in a of screeches.
A Cakophony
B Cacophoney
C Cakophoney
D Cacophony

Q.No: 178 Select the option which best expresses the sentence in direct speech.
He said that we cannot live without air.

He said, "We cannot live without air".
He wanted to say, "We cannot live without air".

He was saying, "We cannot live without air".

O 0 @ P>

He is telling, "We cannot live without air".

Q.No: 179 Choose the correct spelling that complete the sentence meaningfully.
We all want to see recycling and an end to environmental

degradaton
digradation

degredation

o0 w >

degradation

Q.No: 180 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the one which best expresses the same
sentence in Passive voice.

The doctor has given me a very painful injection.
Giving of a painful injection to me has been done by the doctor.
A very painful injection has been given to me by the doctor.

The doctor gives myself a very painful injection.

o 0 w >

A very painful injection is being given by me to the doctor.
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Q.No: 181 What is the synonym of the word "Prudent"?

A Careless
B Shortsighted
C Improvident
D Cautious

Q.No: 182 Fill in the blank with the most appropriate preposition:

I am worried______ my father's health.
A to
B on
Cc about
D at

Q.No: 183 Choose the correct spelling that complete the sentence meaningfully.

The sees a business opportunity where others noticed only a rubbish site.
A Enterprenuer
B Entreprenuer
C Entrepreuner
D Entrepreneur

Q.No: 184 Choose the correct spelling that complete the sentence meaningfully.

He dressed in green which did the job at the time.
A Camoflag
B Camofleuge
C Camoflage
D Camouflage

Q.No: 185 What is the Synonym for "Verbose"?

A Wordy
B Terse

C Brief

D Concise

Q.No: 186 What is the Antonym of "Manifest"?

A Patent

B Ambiguous
C Plain

D Lucid

Q.No: 187 Fill in the blank with the most appropriate preposition:

Almost all actors were involved the scandal.
A from
B with
C that
D in

Q.No: 188 Choose the correct part of speech for the underlined word in the sentence.
The astronomer observed distant galaxies through a powerful telescope.

A Noun

B Adverb

C Adjective
D Verb

Q.No: 189 Choose the correct part of speech for the underlined word in the sentence.
You are so pretty.

A Adjective
B Adverb

Cc Pronoun
D Verb

Q.No: 190 What is the single word for "The Study of religion"?
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Astrology
Psephology
Theology

o 0 @ >

Pathology

Q.No: 191 What is the synonym of "Elaborate"?

A Bald

B Simple
C Plain

D Detailed

Q.No: 192 What does the idiom "jump on the bandwagon" mean?

A Join others in doing something popular or trendy
B Criticize a bandwagon

C Jump on a moving vehicle which has a band

D Start a new bandwagon

Q.No: 193 What is the single word for "The study of mountains"?

A Etymology
B Philology
C Astronomy
D Orology

Q.No: 194 Choose the correct meaning of the given idiom/phrase from the options.

"Storm in a teacup"
Not showing emotions towards others.
Exaggerate a problem/ unnecessary anger and worry about trivial matter.

Take the credit for something someone else did good or bad.

o0 w >

Order received from the authoritative source.

Q.No: 195 Choose the correct part of speech for the underlined word in the sentence.
She is a great dancer, but she is shy.

A Conjunction
B Adverb

C Verb

D Pronoun

Q.No: 196 What does the idiom "the elephant in the room" mean?

A A room with elephants

B A large room

C An obvious problem or issue that everyone is ignoring
D A room filled with elephant pictures

Q.No: 197 Complete the sentence using the correct preposition:
I slept only two hours last night.

off
for

on

o 0 w >

of

Q.No: 198 What is the Antonym of the word "Volatile"?

A Fickle

B Unstable
C Constant
D Erratic

Q.No: 199 Change the sentence to Active voice:
The book was written by a famous author.

A A famous author had written the book.
A famous author has written the book.

C A famous author will write the book.
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Q.No: 200
A

B
C
D

A famous author wrote the book.

What is the single word for "A group of insects"?
Bevy

Swarm

Fleet

Bunch
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